Math 240 - Quiz 9 Name __Key
Apl‘ll 7, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
April 12.

1. (6 points) Find two linearly independent power series solutions (centered at z = 0).
State their recurrence relations, and write the first three terms of ¢ach.
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2. (1 point) Refer back to problem 1. Determine the radius of convergence that is guar-
anteed for the series solutions by the theorem in section 3.2.
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3. (3 points) Use the definition of the Laplace transform to find the transform
of f(t) = 2e78t.
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